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POLITICAL SCIENCE

Paper : POL-HC-4036

( Global Politics )
( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate ﬁili marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

v epprEd e f (R e ) -
(a) Define globalization.

fryreg 1eee! |

() Who is the author of the book,
Globalization and Its Discontents?

Globalization and Its Discontents <«
AT (4P (P9 ?
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{d)

(e)

(a)

(h)

()

0)

22A/1211

(2)

What do you mean by SEZ?

Q162 WG b 9 eyt [ |

When did India algn the Kyoto

Protoeol?
WiAes W'D o T9R (T e e Al

State the full form of UNFCCC,
UNFCCC 3 3mejsf fivfchi ol |

Mention one cause of migration,
S (01 T BeEry 9 |

Mention one function of World Bank.

oy @@q Wb R BewE 90 |

Where is the headquarters of the
International Monetary Fund situated?

wesaw a1 AT 19 Frfen e SR 2

State one effect of climate change.

weraTy AT Ol Ao A |

Is India a member of World Trade
Organization?

oS ey Afifere R Q9= 030 200 ?

( Continued )

(k)

(1)

(m)

(n)

(0)

(3)

Mention the name of one member of
ABIEAN,

ABEAN 1 a1 w1y age #m Bom o |
Name one alternative approach to
globalization,

fmrra @1 fawm yfBefia s Yome wa
Name the Environmental Conference
held in 1972,

oAy BAC wEfde cara Afdca sfimadaa w
far

Is Britain a member of European
Union?

e WA HE GqH T A ?

Write the full form of NPT.
NPT3 5 Fefeh1 ot |

Answer the following questions in short

(any five) :

o PR by T faar (R e #fd) -

(@)

(b)

22A/1211

Mention two international terrorist

organizations.

B! BB TAPTIR SRR A BCEY |

Mention two impacts of migration.

@G 0! 2O TCEY 341 |

2x5=10
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()

(d)

(e)

(9)

(h)

22A/1211

(4)

What do you mean by global Commons?

RyeSi Bzl T R |2

Write two supporters of liberal approach
of globalization.

R SRS (RSN e S W
fer 1

Name two nuclear disarmament
treaties.

e FREeeeR 739 pfe T 391

Write two features of globalization.

fearrera o1 (3FE fea

Write two differences between State
terrorism and non-State terrorism.

1By EPRW TF -4 TGP Bl AL
forn |

Write two functions of World Trade
Organization.

ey arfafdns g o1 w7 fora |

( Continued ) 22A/1211

(5)

3. Answer the following questions (any foun :
5x4=20

wm{awm(ﬁ@mﬂﬁmy

(a) Write a note on alternative perspective
of globalization.

R s qRed R «fb Gt for o

(b) Write a -short note on cultural
dimension of globalization.

R Tegfes b eods af 55 G
forat |

(c) State five major environmental problems.
SR “T5B1 oy PR R TeEd 390 |

(d) Write a note on state sponsored
terrorism.

43 RS PRI ¢S Jfb G ot |
(e) Write a note on global economy.
ooy AT @ores «fb re fora |
() Write on World T rade Organization.
Ry ey TR fwcs |
(g) Write about climate change.
oy efReeT e s

(h) Write a note on the IMF.
g g e R oo ¢orem fora |
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4. Answer the following questions (any foun :

=Y

(aj

)

@

@

(e}

22471211

(6)

10x4=40

sy B o (R e wif¥w) -

Explain the role of global resistance
movement with special reference (0
global social forum.

Ry TS Te Rom s Ry ARl
TR SRR R S ¥4

Discuss the structure and functions of
European Union.

TR SRR A TF PR S ¥4
Write a note on the Rio Earth Summit.
fRa’ R3S RN R < G o1
Analyze the role of ASEAN in global
politics.

fog Y@afo5 ASEAN T SRR R =il
i

Discuss the positive and negative
impacts of giobalization.

Ream TR I Gl ASRTR
I 41

Discuss the causes and impacts of
global terrorism.

R PR TS TIE ASRFqR FIEA 311 |

10

10

10

10

10

10

( Continued )

(g)

)

0

' é 22A—7000/1211

(7)

Do you think globalization is a threat to
State sovereignty? Justify your answer.

T qEY SR 6 SRR R IR
?j%‘.' ?ﬁ SR ? (TN ©644 EPEEI {F@ a1

10

What is migration? Discuss the various
causes of migration in international
context. 2+8=10
gsq W 7 mew Ren IEER
WRREE CFES FCA0Al 9!

Discuss the Marxist perspective of
globalization.
R TR RSN Fcems 4 |

What do you mean by nuclear
proliferation? What are the measures
taken for reducing the proliferation of
nuclear weapons? Discuss.

wRe el e B 7 SR I
ST ZPRAW I & & I|WE T2 7
Tz A ¥4

10

10
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